Adet (ppb) 1D pull distribution

Constant 5.167 + 1.529

B X2 /'ndf 23.53 /24 M 0.1161+ 0.1926
lean . +0.
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1D pull distribution

Mean 0.0824 + 0.2084

Std Dev  0.9321+ 0.1474
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lagr_asym_usr (ppb) 1D pull distribution

X2 / naf 17.82/19 M 0.05258 + 0.2108
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lagr_asym_usl (ppb 1D pull distribution

— X2 / ndf 21.74119
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lagr_asym_us_dd (ppb) 1D pull distribution

- X2 /' ndf 23.48/19 M 0.01055 + 0.2422
lean . +0.

sooF_ po 9.551+ 28.27

- 6 B StdDev  1.083+0.1713
600 __ Underflow 0

: 5 Overflow 0
400 —
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200 — * * Constant 3.321+1.188
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